CHM 3150 Organic Chemistry II

Dr. Laurie S. Starkey, Cal Poly Pomona

Chapter 19 Aldehydes & Ketones Part 1 — Practice Problems

Provide the [TUPAC name 1
for the following compound.
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Which of the following

syntheses would NOT produce
the target molecule (TM) shown?

™

A) )\/\OH 1) DMSO. (co{ji}2=

2) Et;N

B) )\ 1) BH;-THF
> 2) H,0,, NaOH
1) Hg(OAc),, H,O
C) )\/ 2) NaBH,4 g

3) PCC

D) 1) O3

/ —_—

2) Zn. H,0

E) None of the above (all would produce TM)



Identify the suitable set(s) of reagents for the following synthesis.
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Ph i ~B Ph\/\)'l\

I 1. HC=CNa; 2. BH3-THF; 3. NaBH;,

IT 1. HC=CNa; 2. H,0, H,SO4, HgSOy4
III 1. Mg; 2. ethanal; 3. H;0"; 4. PCC
IV 1. Mg; 2. propanone; 3. H3O+; 4. PCC

O +
V 1.Mg; 2. /\ 3.H;0"; 4. PCC
VI 1. MeEr 2. H;0'; 3. O3 4. DMS

VIL 1. )7 M 2 H;0"; 3. 05 4. DMS

Predict the major products for the following reactions.

/L/Mgsr = )\/MgBr Sl ke )\/MgBr

2)H;0™

6 | Which reagents would be best to accomplish the

following transformation?

OH HO. CH2CHs

)\
CHa3 CHa CH3><CH3



